SHOoEE MEMEZTETEHETEOERINR
1. mTREERE - mikER - BEEEE
IHE H S 1ite 45 B BiE%E 3k y
SH6EC R 1B A TINNDEEREFBET, 0
MREBER | SnesosERAE 2 8%) 284
= (- - . BECA1HEADETERERL L, 0
RAIHT SRR Pl (BRCFEDERRFAE 2. 8%) 282%
== = SH6EC R 1B AT2. SOWNEERAEXRABT, 0
AREAR (BRI6FDEERAE: 2. 7%) 2.75%
mREREBHE N R
(BT 5B D AADBICHDLUMBEEEAELE AL, ALPBISEDLLHBE BUFEA
- TLT=,
BEEER
mREREBHE 77.10%
e EICETHBE fm e EEEDEAITEI100% 1Z2BI59 . 71.40%
YEZES 80.00%
2. LRSI DEEEE
IE H etk BHiEE kiR
HIE B
EEXEEEES *gﬁb%ﬂﬁﬂ’i%§%ﬁ,ﬁ:§z¢%ﬁﬁ—%%ﬂz
2 o 3 I S [ — & - = 2 o o = S et [ — 73 D E 45 ﬁ% /EI:I 25“5 T 5_' =
BXFER EREOREICEHELT-,

XD
i =




